FIBER-WALK PANELS HELICAL PILE NOTES: NOTES:
- PPRODUCT DRAWINGS WILL BE PROVIDED BY 1) ALL HELICAL PILES TO BE 4 1/2" DIAM. UNLESS 1) ALL OUTSIDE PILE CAPS ARE TO BE PILE CAP #1 UNLESS
FIBER-WALK FOR ALL PANELS PRIOR TO CONSTRUCITON OTHERWISE NOTED. OTHERWISE NOTED.
PANEL#1 -  300f400c10c -QTY. 78 2) VERTICAL PILES SHOULD BE ABLE TO CARRY 30KN 2) ALL MIDDLE PILE CAPS ARE TO BE PILE CAP #2 UNLESS
PANEL#2 -  200f400c10c -QTY. 4 VERTICAL FORCE AND 5KN LATERAL FORCE IN ULS. OTHERWISE NOTED.
PANEL#3 -  150f400c10c -QTY. 2 3) VERTICAL PILES SHALL BE TESTED FOR 60KN.
PANEL#4 -  300f300c10c -QTY. 2 4) INCLINED PILES SHALL BE ABLE TO WITHSTAND 10KN
PANEL#5 -  150_359f400-28c10c - QTY. 1 UPLIFT IN ULS. LEGEND:
PANEL#6 -  154_335f400-24c10c - QTY.1 5) INCLINED PILES SHALL BE TESTED FOR 20KN. = PILE CAP #1
PANEL#7 -  079_220f400-21c10c - QTY. 2 6) IF THE DESIGNED BRACKET DOES NOT FIT THE HELICAL
CUSTOM WEDGE PIECES -QTY. 11 PILE, INFORM THE ENGINEER. . PILECAP#2- @
SHOWN AS HATCHED 7) PLEASE SUBMIT HELICAL PILE SHOP DRAWINGS FOR
REVIEW AND APPROVAL PRIOR TO CONSTRUCTION. . PILECAP#3- @

TIE INTO EXISTING GRADE

PROPOSED 4m WIDE
BOARDWALK ON HELICAL PILES

e

e #1
—_—— #1
= #1 #1 LA - 142.45
—_— #1 #1 _
—_ #1 #1 #1 - - .
— - #1
2t * * - =

e
A
=+
P
; ®*
|
; ®*

WIDE HELICAL PILE CAP 144
[ ‘ w/ GUSSETS, SEE DETAIL ~ /#1 X7 )
/ 4 —
= S - #1 ; WIDE HELICAL PILE CAP
WIDE HELICAL PILE CAP —~ = / w/ GUSSETS, SEE DETAILS
-~

/ ' # ‘ \\ ~* N ; “
w/ GUSSETS, SEE DETAILS = /) % —
/ \é/ - # 4 D) 2515 P

WIDE HELICAL PILE CAP - #1 == é _1 z
~ w/ GUSSETS, SEE DETAILS / < \ 2, % / P
/ / — = i 7 V/ T ===
AT 53 o
/ = #1_ _ ?3 % =la *— ]
3. _g; 147.85 ) F = e _
/ WIDE HELICAL PILE CAP F Zf; 3
w/ GUSSETS, SEE DETAILS o===" 3\®
WIDE HELICAL PILE CAP #4
/ , w/ GUSSETS, SEE DETAILS : - *— - ‘*
y = TIE INTO EXISTING
= GRADE
/ PROPOSED 3mX3m LOOKOUT
{ WIDE HELICAL PILE CAP DECK ON HELICAL P”—ES
> 24 w/ GUSSETS, SEE DETAILS
FLAT PLATE HELICAL PILE
‘ CAP. SEE DETAILS PROPOSED 3mX3m LOOKOUT

T_”s"/OFFSETHELICALPILES DECK ON HELlCAL PlLES

PROPOSED 4m WIDE
BOARDWALK ON HELICAL PILES

BOARDWALK HELICAL PILE LAYOUT

SCALE =N.T.S.

** THIS DRAWING TO BE READ IN CONJUNCTION WITH BOARDWALK LAYOUT CREATED BY WSP.

REVISIONS TRUE NORTH:

Z00 BOARDWALK (A2) DATE: 2022-07-10 DESIGN BY: VA
LTR: DATE: DESCRIPTION: C R | TE F\) | U M ® S _
£ — e JANSEN ENGINEERS BOARD-WALK LAYOUT R PB M REv.:MA
éi?ﬁgé‘irsi" Low2cs CLIENT: Connor Blaikie, WSP SCALE. 07-4502 AOO ‘| O
1-(888) 940-0571 AS N OTE D



AutoCAD SHX Text
CRITERIUM


6 1/2"

10 3/4"
10"
Aﬁ
F i
7 N
7 A\
o [ f \ 1l i
\\ /I
\ N Va
N~
Aﬁ
10 3/4"
" 6"
TV 10 TV 3 5
Y
i | O
&
~
N / ~
J) e ]
\ \ \ \
N | | | |
. — 5/8" DIAM. BOLT TO B
= | [ —
M ‘ O) | SECURE TOHELICALPILE 1| | |
& | | | |
| | | |
L . L | 43/4" |
4 3/4 ALL MATERIAL TO BE f 7
[ N 7 GALVANIZED STEEL 5"

3/8"

PILE CAP #1 - COMMON U-BRACKET

SCALE =3"=1-0"

10"

] N~

10"
_ A T
/ / AN
/ A\
/
5 l‘ I
{ i
\\ Va
N ~
S
5/8" DIAM. BOLT TO
SECURE TO HELICAL PILE
], i 10" ,‘,
| | |
\ \
& | |
v »
& \ \
\ \ \
4 3/a" | L 43/4" |
1 ALL MATERIAL TO BE " 5 i
GALVANIZED STEEL

PILE CAP #2 - FLAT PLATE

SCALE =3"= 10"

14 3/4"

2
7 N\
o | C= =3 L - — 5 |
\ /]
\
N\ V
N
14 3/4"
L 14" L
! 11

6 1/2"

u 5/8" DIAM. BOLT TO
IH SECURE TO HELICAL PILE

|
&

N— = e

4 3/4"

3"x3"x1/4" GUSSET PLATE
CUT AT 45 DEGREE ANGLE

6 1/2"

23/8"

23/8"

\ ALL MATERIAL TO BE

GALVANIZED STEEL

PILE CAP #3 - ELONGATED U-BRACKET

1/4"

SCALE =3"= 10"

OTHER PANEL},

9'-10 1/8"

QTHER PANEL

[3000mm]

GALVANIZED HANDRAIL SUPPORT.

CONTRACTOR TO PROVIDE SHOP
DRAWINGS FOR REVIEW AND APPROVAL

IS
5 PRIOR TO FABRICATION
= 20mm DIAM. HOLE FOR 18mm DIAM.
GALVANIZED GUIDE.
GALVANIZED WELDED WIRE MESH
(BACK SIDE)
£ . GALVANIZED POST
S WOOD KICKPLATE FASTENED TO GALVANIZED
= METAL BRACKET
GALVANIZED BRACKET TO BE BOLTED TO POST
% / WITH M20 GALVANIZED BOLT
IS
5 ol E FIBREWALK FRAME WITH WOOD
& 3 DECKING
| =11 1= —
£ POST TO BE BOLTED INTO FIBREGLASS
o o / 10 FRAME WITH M20 GALVANIZED BOLTS
o o =]
e
N

NOTE:
1. CONTRACTOR TO PROVIDE SHOP DRAWINGS FOR REVIEW AND APPROVAL.
2. SHOP DRAWINGS TO BE SIGNED BY P.ENG REGISTERED IN ONTARIO.

TYP. POST AND RAILING SECTION DETAIL

SCALE =N.T.S.

RAILING SHOWN FOR ILLUSTRATION PURPOSES ONLY

[152mm]

MAINTAIN MAX. 6" SPACING
FROM U/S FIBER-WALK PANELS

HELICAL PILE

MAINTAIN MAX. 6" SPACING
FROM T/O GRADE \

DRIV RN RN IR R,

[152mm]

©

2"x1/4" FLAT BAR CROSS BRACING
BOLTED TO HELICAL PILES w/ 3/8"
DIAM. HDG A325 BOLTS TYP.

/ FINISHED GRADE

TYP. CROSS BRACING DETAIL

SCALE = 3/4" =1'-0"

2"x1/4" FLAT BAR CROSS BRACING
BOLTED TO HELICAL PILES w/ 3/8"

DIAM. HDG A325 BOLTS TYP.

/
VERN

A \ \J
S OSINDNNININININ

INSTALL CROSS BRACING WHEN PANEL EXCEEDS 1.0m IN HEIGHT

£ 0]
& E S A el el el ml el el el el e el el el Bl
~8 &|E i
|5 |
SR
T e e e e e e e e e e e A T
| ae |
] 22 |
T e e e e s e e e e e e A N
B | N E |
£ &
i | =g |
I i e e I s s s A A A N
e |
BEE |
213
I e e e e e s s e e s A A N,
| | _
- :'E QE
= ‘EE ‘.:52
23 22
— = N
N|E
] S|E |
0 |Q
T |
‘;;::::::::::::::: ::j‘
»|E N|E
=|E | | =|€ |
o =3
w2 [ 1 O T A O A A O e N
e e -
N E
|| S|E ‘
0 |Q
CCTEL L L B
e et et s s s s i i A O
&[E \
o1&
7
NE e T e e S S e P 1 B ey
\TYPICAL COMMON PILE LOCATION IN
RELATION TO FIBER-WALK PANELS
| I I N A A N N N A I It T 1T 1T 71T 1 |
© =E ® <}
lf-
° ™, @ @2

9'-10 1/8"

[3000mm]

i

COMMON FIBER-WALK PANEL - 3.0m x 4.0m

PRODUCT DRAWINGS FOR INDIVIDUAL FIBER-WALK PANELS WILL BE PROVIDED PRIOR TO CONSTRUCTION

SCALE =1/2"=1"'-0"

GALVANIZED HANDRAIL SUPPORT
WITH THREADED ROD COUPLING
SHOP DRAWINGS TO BE PROVIDED \

FOR REVIEW AND APPROVAL
PRIOR TO FABRICATION //

NEOPRENE WASHER TYPICAL — \. A

25mm DIAM. GALVANIZED PIPE 20
SLIDE OVER GALVANIZED GUIDE %\
18mm DIA. GALVANIZED l\ AN
THREADED ROD \ B " | 7

RUBBER WASHER TYPICAL BETWEEN _ I
DIFFERENT METAL MATERIALS

25mm DIA. GALVANIZED %

FEMALE THREADED ROD

18

CUSTOM CEDAR OR ASH WOOD HANDRAIL
25mm DIAM. GALVANIZED PIPE SLIDE OVER GUIDE
GALVANIZED HANDRAIL SUPPORT. CONTRACTOR

PROVIDE SHOP DRAWINGS FOR REVIEW AND
APPROVE PRIOR TO FABRICATION

150m |
] l
|
: -
g| & 8
| s I =
o
£ |
£
GALVANIZED WELDED ®
WIRE MESH eV % E, —
GALVANIZED FLAT BAR ISR =2 [ AY
—1 | R | I I I == == I I I I I I I I
GALVANIZED ANGLE IRON &" £
—lo o o o o o & Q| o o
—
5 o o o o o o E—F o o o
(1T} N "
x WOOD KICKPLATE %.. DIA GALVANIZED — ~ M20 GALVANIZED BOLTS [
@ WELDED WIRE MESH |
GALVANIZED FLAT [
N BAR AND ANGLE IRON I
o / 1.5m 0O.C. ;
’ TYPICAL
\\ 0.5" LENGTH {

TYP. POST AND RAILING ELEVATION

DNCT ANIN DAILIINI DANICI CI E\/ATINNI

SCALE =N.T.S.

RESERVED

SCALE =N.T.S.

RESERVED

SCALE =N.T.S.

REVISIONS

TRUE NORTH:

LTR:

DATE:

DESCRIPTION:

22-09-22

ISSUED FOR TENDER

25 FIRST STREET

1-(888) 940-0571

CRITERIUM 4°®

JANSEN ENGINEERS

ORANGEVILLE, ON, L9W 2C8

Z0O BOARDWALK (A2)
TYP. DETAILS

CLIENT: Connor Blaikie, WSP

DATE: 2022_07_1 O DESIGN BY: MA
DRAWN BY: PB REVIEWED BY: MA
PROJECT No.: 07_4502 DRAWING No.: REV.:

SCALE:

AS NOTED

A300



AutoCAD SHX Text
CRITERIUM


	Sheets and Views
	Current - 07-4502 - Toronto Zoo Boardwalk (A2)-A001
	Current - 07-4502 - Toronto Zoo Boardwalk (A2)-A300


